

January 7th, 2025

Via email only: DES.OE.FMIII.Awards@dot.ca.gov April Perez-Hollins, Office Chief DIVISION OF ENGINEERING SERVICES OFFICE ENGINEER 1727 30th Street, MS-43 SACRAMENTO, CA 95816-8041

Re:

Contract number 08-1J3204

Bid opening Date: January 07, 2025

Subject:

Correction of CSLB license and DIR numbers

Dear Ms. Perez-Hollins,

I am writing to request a correction to the information previously submitted for **Calmerx Engineering Inc.** in relation to Contract number **08-1J3204 we submitted today.**

Unfortunately, an error occurred in the listing of their contractor details.

The California Contractor License Number (CSLB) and the Public Works Contractor Registration Number (DIR) were inadvertently swapped. Please find the corrected information below:

DIR Number: 1000005380

CSLB Number: 685954

I apologize for any confusion or inconvenience this may have caused and appreciate your understanding in this matter. Kindly update your records with the corrected information.

If you require further clarification or additional documents to process this correction, please do not hesitate to contact me directly at 949-500-0894 or Elie@nationwidecontractors.net

Thank you for your attention to this matter.

Sincerely,





January 7th, 2025

Via email only: DES.OE.FMIII.Awards@dot.ca.gov April Perez-Hollins, Office Chief DIVISION OF ENGINEERING SERVICES OFFICE ENGINEER 1727 30th Street, MS-43 SACRAMENTO, CA 95816-8041

Re:

Contract number 08-1J3204

Bid opening Date: January 07, 2025

Subject:

Correction to Subcontractor Listing for Diversified Landscape Co.

Dear Ms. Perez-Hollins,

I am writing to inform you of a clerical error in the subcontractor listing for **Diverscape**, **Inc. DBA Diversified Landscape Co.** in the submitted bid documents for **Contract number 08-1J3204**.

Specifically, the allocation of bid items was inaccurately listed, and I would like to provide the corrected information for your records.

In the original submission, the scope of work for Diverscape, Inc. was mistakenly allocated to **Bid Items 14-18 and 24-62**. However, the correct allocation should be as follows:

Bid Items: 14-18, 24, 28-62

This correction ensures that the allocation of work aligns accurately with the bid and subcontractor agreements. I apologize for any confusion this error may have caused and assure you that this adjustment does not alter the scope, value, or compliance of the subcontracted work. Please see attached bid from Diversified. Please note that item 78 was descoped.

If further clarification or supporting documentation is required to process this correction, please do not hesitate to contact me at 949-500-0894 or Elie@nationwidecontractors.net.

Thank you for your understanding and prompt attention to this matter.

Sincerely,



Diverscape, Inc. Dba Diversified Landscape Co.

21730 Bundy Canyon Road Wildomar, CA 92595

Phone: 951-245-1686 Fax: 800-783-4197

Union Contractor ~ Lic. 576183 ~ DIR 1000009249 ~ DBE 8022 ~ SB 12567 ~ DOORs 6427

To:	Nationwide General Construction Services, Inc	Contact:	Estimating
Address:	7660 Liberty Dr	Phone:	(949) 500-0894
	Huntington Beach, CA 92647	Fax:	(562) 381-8315
Project Name:	08-1J3204	Bid Number:	5512
Project Location:	18475 Conrad Ave, Lake Elsinore, CA	Bid Date:	1/7/2025
Addendum #:	1		
Attachments:	Diverscape bid docs. & certspdf		

Sebs # 12567 Temporary Soil Binder	Line #	Item Description	Estimated Quantity	Unit	Unit Price	Total Price
15 Temporary Drainage Inlet Protection 3.00 EACH \$380.00 \$1,140.00 16 Temporary Fiber Roll 300.00 LF \$6.40 \$1,920.00 17 Temporary Giber Bag Berm 200.00 LF \$6.30 \$49,800.00 18 Temporary Silt Fence 150.00 LF \$6.30 \$945.00 24 Temporary High-Visibility Fence 300.00 LF \$9.00 \$27,000.00 28 Roadside Clearing 1.00 LS \$20,300.00 \$27,000.00 29 Rock Blanket 50.00 SF \$88.30 \$4,415.00 30 Slow-release Fertilizer 21.00 EACH \$67.00 \$14,070.00 31 Plant (Group A) 22.00 EACH \$15.20 \$3,496.00 32 Plant (Group B) 110.00 EACH \$15.50 \$3,496.00 33 Plant (Group B) 110.00 LS \$5,580.00 \$5,580.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580	SBE #	12567				
Temporary Fiber Roll 300.00 F \$6.40 \$1,920.00 F Temporary Gravel Bag Berm 200.00 F \$24.90 \$4,980.00 F \$24.90 \$4,980.00 F \$6.30 \$945.00 F \$6.30 \$945.00 F \$9.00 \$2,700.00 F \$9.00 F \$9.00 \$2,700.00 F \$9.00 F \$	14	Temporary Soil Binder	7,500.00	SY	\$0.38	\$2,850.00
16 Temporary Fiber Roll 300.00 LF \$6.40 \$1,920.00 17 Temporary Gravel Bag Berm 200.00 LF \$24,90 \$4,980.00 24 Temporary Silf Fence 150.00 LF \$9.00 \$29,700.00 28 Roadside Clearing 1.00 LS \$20,300.00 \$20,200.00 29 Rock Blanket 50.00 SF \$88.30 \$474.15.00 30 Slow-release Fertilizer 23.00 LB \$40.00 \$936.10 31 Plant (Group K) 221.00 EACH \$570.00 \$10,700.00 32 Plant (Group A) 230.00 EACH \$15.20 \$3,496.00 33 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 35 Plant (Group B) 1.00 LS \$5,580.00 \$5,580.00 36 Decomposed Granite 1.00 LS \$1,840.00 \$1,860.00	15	Temporary Drainage Inlet Protection	3.00	EACH	\$380.00	\$1,140.00
Temporary Silt Fence	16	Temporary Fiber Roll	300.00	LF	\$6.40	
18 Temporary High-Visibility Fence 150.00 LF \$6.30 \$945.00 24 Temporary High-Visibility Fence 300.00 LF \$9.00 \$2,700.00 28 Roadside Clearing 1.00 LS \$20,300.00 \$20,300.00 29 Rock Blanket 50.00 SF \$88.30 \$44,15.00 30 Slow-release Fertilizer 23.00 LB \$40.00 \$14,070.00 31 Plant (Group K) 21.00 EACH \$57.00 \$14,070.00 32 Plant (Group B) 110.00 EACH \$15.20 \$3,496.00 33 Plant (Group B) 110.00 LS \$55,80.00 \$5,580.00 34 Maintain Existing Planted Areas 1.00 LS \$52,200.00 \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 SF \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00	17	Temporary Gravel Bag Berm	200.00	LF	\$24.90	
28 Roadside Clearing 1.00 LS \$20,300.00 29 Rock Blanket 50.00 SF \$88.30 \$4,415.00 30 Slow-release Fertilizer 23.00 LB \$40,70 \$936.10 31 Plant (Group K) 21.00 EACH \$670.00 \$14,070.00 32 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 SF \$8.30 \$3,580.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$1,840.00 \$1,840.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 9.00 EACH \$580.00 \$8,050.00 <t< td=""><td>18</td><td>Temporary Silt Fence</td><td>150.00</td><td>LF</td><td>\$6.30</td><td></td></t<>	18	Temporary Silt Fence	150.00	LF	\$6.30	
28 Roadside Clearing 1.00 LS \$20,300.00 29 Rock Blanket 50.00 SF \$88.30 \$4,415.00 30 Slow-release Fertilizer 23.00 LB \$40.70 \$936.10 31 Plant (Group K) 21.00 EACH \$670.00 \$14,070.00 32 Plant (Group B) 110.00 EACH \$37.00 \$4,970.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 SF \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 41 1 1/2" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00	24	Temporary High-Visibility Fence	300.00	LF	\$9.00	
Slow-release Fertilizer 23.00 LB \$40.70 \$936.10 Plant (Group K) 22.00 EACH \$670.00 \$14,070.00 Plant (Group A) 230.00 EACH \$15.20 \$33,496.00 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 Plant Establishment Work 1.00 LS \$5,580.00 \$5,630.00 Wood Mulch 270.00 CY \$74.90 \$20,223.00 Wood Mulch 270.00 CY \$74.90 \$20,223.00 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 11 *Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 12 *Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 13 *1 L1/2" Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 14 *1 1/2" Remote Control Valve 2.00 EACH \$460.00 \$460.00 15 *2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 16 *18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$460.00 \$4,810.00 16 *18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$4,810.00 \$4,810.00 17 *8 Emote Control Valve 1.00 EACH \$6,260.00 \$6,260.00 18 *3.90 EACH \$4,810.00 \$4,810.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$6,260.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$6,260.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$6,260.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$6,260.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$6,260.00 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$5.60 \$6,260.00 19 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$5.60 \$6,260.00 10 *4 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$5.60	28	Roadside Clearing	1.00	LS	\$20,300.00	
Plant (Group K) 21.00 EACH \$670.00 \$14,070.00 \$20.00 EACH \$15.20 \$3,496.00 \$33 Plant (Group B) 110.00 EACH \$15.20 \$3,496.00 \$33 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 \$34 Maintain Existing Planted Areas 1.00 LS \$5,580.00	29	Rock Blanket	50.00	SF	\$88.30	\$4,415.00
32 Plant (Group A) 230.00 EACH \$15.20 \$3,496.00 33 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 SF \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$13,400.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$3,960.00 40 1" Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$40.00 \$1,160.00 42 2"Wye Strainer Assembly 1.00	30	Slow-release Fertilizer	23.00	LB	\$40.70	\$936.10
33 Plant (Group B) 110.00 EACH \$37.00 \$4,070.00 34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 \$F \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 9.00 EACH \$460.00 \$3,960.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$4,600.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 45 2" Backflow Preventer Assembly<	31	Plant (Group K)	21.00	EACH	\$670.00	\$14,070.00
34 Maintain Existing Planted Areas 1.00 LS \$5,580.00 35 Plant Establishment Work 1.00 LS \$22,200.00 \$22,200.00 36 Decomposed Granite 1,040.00 SF \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2 Backflow Preventer Assembly 1.00 EACH \$4,810.00 \$4,810.00 46 Backflow Preventer Enclosure 1.00 EACH	32	Plant (Group A)	230.00	EACH	\$15.20	\$3,496.00
Plant Establishment Work	33	Plant (Group B)	110.00	EACH	\$37.00	\$4,070.00
36 Decomposed Granite 1,040.00 SF \$8.30 \$8,632.00 37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$440.00 \$3,960.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sens	34	Maintain Existing Planted Areas	1.00	LS	\$5,580.00	\$5,580.00
37 Wood Mulch 270.00 CY \$74.90 \$20,223.00 38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$580.00 \$1,660.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$4,810.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler	35	Plant Establishment Work	1.00	LS	\$22,200.00	\$22,200.00
38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 320.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$720.00 \$5,040.00 50 2" Gate Valve	36	Decomposed Granite	1,040.00	SF	\$8.30	\$8,632.00
38 Remove Irrigation Facility 1.00 LS \$1,840.00 \$1,840.00 39 Control And Neutral Conductors (ARMOR-CLAD) 1.00 LS \$13,400.00 \$13,400.00 40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$8,050.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2 " Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 320.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$58.30 \$2,681.80 50 2 " Gate Valve <td>37</td> <td>Wood Mulch</td> <td>270.00</td> <td>CY</td> <td>\$74.90</td> <td>\$20,223.00</td>	37	Wood Mulch	270.00	CY	\$74.90	\$20,223.00
40 1" Remote Control Valve 9.00 EACH \$440.00 \$3,960.00 41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 320.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (S	38	Remove Irrigation Facility	1.00	LS	\$1,840.00	\$1,840.00
41 1 1/2" Remote Control Valve 2.00 EACH \$580.00 \$1,160.00 42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 36.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$58.30 \$2,281.80 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$5.65 \$22,430.50 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 50.00 LF \$6.00 \$1,800.00 </td <td>39</td> <td>Control And Neutral Conductors (ARMOR-CLAD)</td> <td>1.00</td> <td>LS</td> <td>\$13,400.00</td> <td>\$13,400.00</td>	39	Control And Neutral Conductors (ARMOR-CLAD)	1.00	LS	\$13,400.00	\$13,400.00
42 2" Wye Strainer Assembly 1.00 EACH \$460.00 \$460.00 43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$6.15 \$3,198	40	1" Remote Control Valve	9.00	EACH	\$440.00	\$3,960.00
43 16-18 Station Irrigation Controller (Wall Mounted) 1.00 EACH \$8,050.00 \$8,050.00 44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.80 \$348.00 52 1" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$5.80 \$348.00 53 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 50.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 55.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 55.00 LF \$18.40	41	1 1/2" Remote Control Valve	2.00	EACH	\$580.00	\$1,160.00
44 2" Copper Pipe (Supply Line) 40.00 LF \$38.90 \$1,556.00 45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$18.40 \$10,120.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.	42	2" Wye Strainer Assembly	1.00	EACH	\$460.00	\$460.00
45 2" Backflow Preventer Assembly 1.00 EACH \$6,260.00 \$6,260.00 46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00	43	16-18 Station Irrigation Controller (Wall Mounted)	1.00	EACH	\$8,050.00	\$8,050.00
46 Backflow Preventer Enclosure 1.00 EACH \$4,810.00 \$4,810.00 47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$18.00	44	2" Copper Pipe (Supply Line)	40.00	LF	\$38.90	\$1,556.00
47 Flow Sensor 1.00 EACH \$2,070.00 \$2,070.00 48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80<	45	2" Backflow Preventer Assembly	1.00	EACH	\$6,260.00	\$6,260.00
48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.97 \$1,416.80	46	Backflow Preventer Enclosure	1.00	EACH	\$4,810.00	\$4,810.00
48 Tree Well Sprinkler Assembly 46.00 EACH \$58.30 \$2,681.80 49 Riser Sprinkler Assembly 320.00 EACH \$45.90 \$14,688.00 50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 <	47	Flow Sensor	1.00	EACH	\$2,070.00	\$2,070.00
50 2" Gate Valve 7.00 EACH \$720.00 \$5,040.00 51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	48	Tree Well Sprinkler Assembly	46.00	EACH	\$58.30	\$2,681.80
51 3/4" Plastic Pipe (Schedule 40) (Supply Line) 3,970.00 LF \$5.65 \$22,430.50 52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	49	Riser Sprinkler Assembly	320.00	EACH	\$45.90	\$14,688.00
52 1" Plastic Pipe (Schedule 40) (Supply Line) 60.00 LF \$5.80 \$348.00 53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	50	2" Gate Valve	7.00	EACH		
53 1 1/4" Plastic Pipe (Schedule 40) (Supply Line) 300.00 LF \$6.00 \$1,800.00 54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	51	3/4" Plastic Pipe (Schedule 40) (Supply Line)	3,970.00	LF	\$5.65	\$22,430.50
54 1 1/2" Plastic Pipe (Schedule 40) (Supply Line) 520.00 LF \$6.15 \$3,198.00 55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	52	1" Plastic Pipe (Schedule 40) (Supply Line)	60.00	LF	\$5.80	\$348.00
55 2" Plastic Pipe (Schedule 40) (Supply Line) 550.00 LF \$18.40 \$10,120.00 56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	53	1 1/4" Plastic Pipe (Schedule 40) (Supply Line)	300.00	LF	\$6.00	\$1,800.00
56 Pressure Regulating Valve 1.00 EACH \$2,820.00 \$2,820.00 57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	54	1 1/2" Plastic Pipe (Schedule 40) (Supply Line)	520.00	LF	\$6.15	\$3,198.00
57 Quick Coupling Valve 9.00 EACH \$540.00 \$4,860.00 58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	55	2" Plastic Pipe (Schedule 40) (Supply Line)	550.00	LF	\$18.40	\$10,120.00
58 12" Corrugated High Density Polyethylene Pipe Conduit 35.00 LF \$180.00 \$6,300.00 59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	56	Pressure Regulating Valve	1.00	EACH	\$2,820.00	\$2,820.00
59 Dry Seed (SQFT) 1,840.00 SF \$0.77 \$1,416.80 60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	57	Quick Coupling Valve	9.00	EACH	\$540.00	\$4,860.00
60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	58	12" Corrugated High Density Polyethylene Pipe Conduit	35.00	LF	\$180.00	\$6,300.00
60 Bonded Fiber Matrix (Sqft) 2,160.00 SF \$0.97 \$2,095.20	59	Dry Seed (SQFT)	1,840.00	SF	\$0.77	\$1,416.80
	60	Bonded Fiber Matrix (Sqft)	2,160.00	SF	\$0.97	\$2,095.20
	61				\$280.00	\$1,680.00

1/7/2025 9:24:46 AM Page 1 of 3

Diverscape, Inc. Dba Diversified Landscape Co.

21730 Bundy Canyon Road Wildomar, CA 92595 Phone: 951-245-1686 Fax: 800-783-4197

Union Contractor ~ Lic. 576183 ~ DIR 1000009249 ~ DBE 8022 ~ SB 12567 ~ DOORs 6427

To:	Nationwide General Construction Services, Inc	Contact:	Estimating
Address:	7660 Liberty Dr	Phone:	(949) 500-0894
	Huntington Beach, CA 92647	Fax:	(562) 381-8315
Project Name:	08-1J3204	Bid Number:	5512
Project Location:	18475 Conrad Ave, Lake Elsinore, CA	Bid Date:	1/7/2025
Addendum #:	1		
	D:		

Attachments: Diverscape bid docs. & certs..pdf

Line #	Item Description	Estimated Quantity	Unit	Unit Price	Total Price
62	Incorporate Materials	1,840.00	SF	\$1.45	\$2,668.00
78	Minor Concrete (concrete Mow Strip)	1.70	CY	\$1,240.00	\$2,108.00
		Total Price for above SRE # 12567 Items			\$246 277 40

Total Bid Price: \$246,277.40

Notes:

- Bid Notes:
- The above prices do not include Performance and Payment Bond. Add 1.5% if bond is required. Due in 30 days.
- · Check & test to be completed before disturbing any landscape areas.
- · Repairs for temporary erosion control to be time and material.
- Retention to be held at the same rate as Owner to Contractor.
- · Retention to be released within 60 days of completion and acceptance of work.
- Pipe and wire to be installed prior to paving or hardscape.
- Installation of sleeves to be scheduled prior to compaction of subgrade or installation of any facilities above sleeve.
- 45 working day(s) required and includes 1 move-in(s). Additional move-ins=\$1,500 each.
- Each move-in for Temporary Erosion Control will be subject to a minimum quantity requirement, to be determined based on site conditions and mobilization needs.
- · Hydroseed truck access is required.
- Water to be provided through a 2.5" metered hydrant or equal at jobsite for hydroseed work.
- · Roadside clearing will be performed immediately prior to any landscape work.
- Diversified Landscape will be included with any eligible escalation events that may occur between owner and contractor.
- · Upon completion of work, we will receive a PFE Proposed Final Estimate.
- · Bid Exclusions:
- · Night work is excluded.
- · Import or export of top soil is excluded.
- Water meters, point of connection, cost of water and hot taps are excluded.
- · Electrical except for final hookup to controller is excluded.
- · All Clearing and grubbing, removal and disposal of trash, debris, and weeds is excluded.
- Cut, cap, patch and removal of concrete or asphalt is excluded.
- · Traffic control is excluded.
- Installation of any pipe by directional boring or jack and drill is excluded.
- · Excavation and compaction is excluded.
- Concrete wash outs are excluded.
- · Maintenance of temporary erosion control is excluded.
- · Removal of temporary erosion control is excluded.
- BMPs (Best Management Practices), and all related work are excluded from our pricing
- Proposal Notes:
- · All of the notes above to be made part of contract.
- Proposal good for 60 days.
- This proposal is all-inclusive. Separating items without prior approval renders them invalid and will require negotiations before
 agreeing to subcontract execution.
- We are a Disadvantaged Business Enterprise (#8022) for NAICS Codes 237110; 237310; 237990; 238910; 484220
- · Work codes include:

C2001 rock blanket; c1575 remove bridge item; c9908 heavy equipment Rental (owned equp only); c7215 concreted-rock slope protection; C1910 grading; c1970 embankment construction; c2065 irrigation System; c5100 concrete structure; c5110 concrete surface finish; C7200 rock slope protection; c7301 concrete curb & sidewalk - misc

Please provide prelim info with subcontract including bond company and bond number.

Diverscape, Inc. Dba Diversified Landscape Co.

21730 Bundy Canyon Road Wildomar, CA 92595

Phone: 951-245-1686 Fax: 800-783-4197

Union Contractor ~ Lic. 576183 ~ DIR 1000009249 ~ DBE 8022 ~ SB 12567 ~ DOORs 6427

То:	Nationwide General Construction Services, Inc	Contact:	Estimating
Address:	7660 Liberty Dr	Phone:	(949) 500-0894
	Huntington Beach, CA 92647	Fax:	(562) 381-8315
Project Name:	08-1J3204	Bid Number:	5512
Project Location:	18475 Conrad Ave, Lake Elsinore, CA	Bid Date:	1/7/2025
Addendum #:	1		
Attachments:	Diverscape bid docs. & certspdf		

Payment Terms:

Payment to be made within 7 days of progress payment to contractor.

ACCEPTED: The above prices, specifications and conditions are satisfactory and hereby accepted.	CONFIRMED: Diverscape, Inc. Dba Diversified Landscape Co.			
Buyer:				
Signature:	Authorized Signature:			
Date of Acceptance:	Estimator: Daniel Cano			